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fore) TEREOBBOEILHDOKRES TREDOHBERILHDOKRES TRFOBHOESLHDKRES ITRFOHBERILHDOKRES
= = T HVE = T HVE E| =5 = U AN =3 R HVE = =3
; 100kN/mM%#BZ % - -~ - -|3mEHEZ D -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~ -
ZFh st 100|000 ~ 637 80.16 | #hLlst | 000 ~ 637]1.79 9.58 Zhllst 100|500 ~ 751 80.16 | #hist | 500 ~ 751|179 9.568
2 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~
Fn st 1.00 | 000 ~ 732 93.33 | =S (000 ~ 732|202 10.83 Fn Lot 1.00 | 5.00 ~ 1093 93.33 | #nS | 6.00 ~ 1093) 202 10.83
3 100kN/mM%#B % % - -~ - -[3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Fh st 100|000 ~ 753 96.35 | Thst | 000 ~ 753|208 11.11 ZThist 100|500 ~ 1222 96.35 | TS | 500 ~ 1222|208 11.11
4 100kN/mM%#BZ % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Fn st 100000 ~ 718 91.32 | Fhist | 0oo ~ 718|215 11.51 Fn Lot 100500 ~ 1239 91.32 | #hS | 6.00 ~ 1239|215 1151
5 100kN/m#Z#BZ% | 1.00| 000 ~ 067 110.02 |3ImEEBZS -~ - - -| 100kN/ Mm% 25 | 1.00 | 1312 ~ 1555 | 110.02 |3mEEZD -~
Fn Lot 1.00 | 067 ~ 846 100.00 | =4t | 000 ~ 846|257 13.76 Fn Lot 1.00 | 5.00 ~ 1312 100.00 | =hst | 5.00 ~ 1555|2.567 13.76
6 100kN/mM#Z#BZ% | 1.00 | 000 ~ 162 12482 |Im&EBZ3 -~ - - -| 100kN/mM#%#25 | 1.00 | 11.58 ~ 1745 124.82 |3mEBEZD -~
Fn Lot 100 162 ~ 941 100.00 | #hilst | 000 ~ 941|264 14.13 Fn Lot 100500 ~ 1158 100.00 | #hLsSt | 600 ~ 1745 2.64 14.13
- 100kN/mM#Z#BZ%| 1.00| 000 ~ 200 130.86 |3Im&EBZS -~ - - -| 100kN/m#%#25 | 1.00 | 1090 ~ 1821 | 130.86 |3mEEZD -~
Fn Lot 1.00 | 200 ~ 9.78 100.00 | #ndst | 000 ~ 9.78| 253 13.54 Fn Lot 1.00 | 5.00 ~ 1090 100.00 | =hst | 5.00 ~ 1821|253 13.54
3 100kN/m#Z#BZ%| 100|000 ~ 1.17| 11760 |3ImEEBZS -~ - - -| 100kN/m#%#25 | 1.00 | 1288 ~ 1736 117.60 |3mEEZSD -~
Fn Lot 100|117 ~ 895| 100.00 | #hist | 000 ~ 895|277 14.84 Fn Lot 100|500 ~ 1288 100.00| TnLS | 500 ~ 17.36|2.77 14.84
9 100kN/mM#Z#BZ% | 1.00 | 000 ~ 027 10395 |3ImEBZS -~ - - -| 100kN/m#%#25 | 1.00 | 1498 ~ 1608| 103.95 |3mEEZD -~
Fn Lot 1.00 027 ~ 805 100.00 | #nst | 000 ~ 805|292 15.60 EFn Lot 1.00 | 5.00 ~ 1498 100.00 | =hst | 5.00 ~ 16.08| 2.92 15.60
10 100kN/mM%#B % % - -~ - -[3mEHEZ D -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZ S -~
Fn Lot 1001000 ~ 701 88.85 | stk | 000 ~ 701191 10.24 Fn st 1.00 | 5.00 ~ 922 88.85 | #hst | 5.00 ~ 922 | 1.91 10.24
17 100kN/mM%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~ - - -
ZFh st 100|000 ~ 6.02 75.48 | Fhst | 0.00 ~ 0.00| 1.60 8567 Zhllst 100|500 ~ 730 75,48 | Ths | 5.00 ~ 7.30 | 1.60 8567
12 100kN/mM%#B % % - -~ - -[3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
ZFh st 100|000 ~ 710 90.20 | #hiust | 000 ~ 710\ 1.86 9.98 ZFh st 100|500 ~ 916 90.20 | #hst | 500 ~ 9.16 | 1.86 9.98
13 100kN/m%#B % % - -~ - -|3mEHEZ B -~ - - -| 100kN/mi%#8 2% - -~ - -[3mEHEZS -~
Fh st 100|000 ~ 527 65.77 | #Fhst | 000 ~ 527|182 9.76 ZFh st 100|500 ~ 580 65.77 | #hst | 500 ~ 580|182 9.76
14 100kN/m%#B % % - -~ - -|3mEHEZ D -~ - - -| 100kN/mi%#8 2% - -~ -[3mEHEZS -~ - - -
Fn Lot 100000 ~ 738 94.13 | #hst | 000 ~ 738|265 14.19 Fhn st 100|500 ~ 1297 94.13 | #hS | 6.00 ~ 1297| 2.65 14.19
5 100kN/mM#Z#BZ% | 1.00| 000 ~ 025 10371 |3ImEEBZS -~ - - -| 100kN/m#%#25 | 1.00 | 11.55 ~ 1227 103.71 |3mEEZS -~
Zhn st 1.00 | 025 ~ 804 100.00 | =nudst | 000 ~ 804|243 12.99 Zn st 1.00156.00 ~ 11556 100.00 | #hst | 5.00 ~ 1227|243 12.99
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fare) TEREOBBOEILHDOKRES TREFOHBERILHOKRES TRFOBHOESLHDKRES TRFOHBETILHOKRES
=2 = T HVE = T HVE E| 5 = AN =3 R HVE =2 5
1% 100kN/mM%#BZ % - ~ -|3mEHEZ D ~ - -| 100kN/mi%#8 2% - ~ -[3mEHEZ S ~ -
Zhllst 100 0.00 ~ 696 88.24 | #hst | 0oo ~ 696|197 10.52 Zhllst 100|500 ~ 950 88.24 | #nLlst | 500 ~ 950 1.97 10.62
17 100kN/mM%#B % % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZ S ~
Zhllst 100|000 ~ 718 91.29 | #heust 000 ~ 718|174 9.31 Zhllst 100|500 ~ 9.10 91.29 | Thist | 500 ~ 910 1.74 9.31
18 100kN/mM%#B % % ~ -[3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS ~
Zhllst 100|000 ~ 693 87.78 | #hLlst | 000 ~ 693 1.84 9.85 Zhllst 100|500 ~ 870 87.78 | #hilst | 500 ~ 870 1.84 9.85
19 100kN/mM%#BZ % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS ~
Fn st 1.00) 000 ~ 760 97.25 | =t | 000 ~ 760|188 10.08 Fn Lot 100|500 ~ 1040 97.25 | #hst | 6,00 ~ 1040| 1.88 10.08
20 100kN/mM%#B % % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS ~
Zhllst 100|000 ~ 686 86.88 | #nLlst | 000 ~ 686 1.91 10.23 Zhllst 100|500 ~ 890 86.88 | #hLlst | 500 ~ 890 1.91 10.23
27 100kN/mM%#B % % ~ -|3mEHEZ D ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS ~
Zhllst 100|000 ~ 682 86.28 | #hist | 000 ~ 682 1.91 10.22 Zhllst 100|500 ~ 880 86.28 | #hilst | 500 ~ 880 1.91 10.22
29 100kN/mM%#B % % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS ~
Zhllst 100|000 ~ 598 74.96 | TS | 0.00 ~ 598 1.98 10.58 Zhllst 100|500 ~ 760 74.96 | ThUUS | 500 ~ 7.60 | 1.98 10.58
93 100kN/mM%#B% % ~ -|3mEHEZ B ~ -| 100kN/mi%#8 2% ~ -[3mEHEZS ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B% % ~ ImEBZD ~ 100kN/MZH#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/mM%#B % % ~ ImEBZD ~ 100kN/ Mm% B2 % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/MZ#EZ % ~ ImEHEAD ~
Zhllst ~ Zhst ~ Zhllst ~ Zhst ~
100kN/m%#B % % ~ ImEBZD ~ 100kN/MZH#EZ % ~ ImEHEAD ~
Zhn st ~ Zh s ~ Zn st ~ Zh s ~
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